BERES I 1 e K-t & e R

S —1 Lf2EL 350 —#&#H |Ss=1.10
550
100 350 100
- ~20R .
‘f’.?ﬂa’f- H1828B S| 3
iz—: »ﬂ..o..: :»,o-.ub
= TOT
&5
& . &
® #H X 100m ¥ Y
h £ e K-~ EF H E B
g AaviU-tL B 3508B 165.0  {&
F L & )L 1.3 (Z=HY) 0.6 m 3
l/'T:~ _57ZI‘J>7U_I‘ %i%d188_283_)20H 55 m3
BEYVSYI YISV RC—40 55| m?3
il e 10.0 m

130



155

550

100 350 100

S | PO 0 20
H182B g
o
RC—40 S
&
@& : &mE

BERES I i 2 K-~ & fia
S —2 L2ETL 350 fHEEA |S=1.10
M o® =R 100m % Y
An % B K- &F W 8 E [
B AavhI-rL R 3508 165.0 | {&
T )L & 13 (ZEHY) 0.6 m?
VT 4-3hRbavyy-r  FHRIES 208 1.0/ m?
BXEYVSvYv¥3>Y RC—40 1.0 m?
i) e 200 m?

1

3 1




155

155

BEXEZES I V] 2 K-~ & R
& -3 LETL 350 ##®EB |[S=1.10
550
100 450
110
RC—40 S T 100m %4 Y
An £ B2 K-~ Fx #H 2 B
. . 100
® . B5E IvhY-+72° 099 [110}><155x600 165.0  {&
E )L 4 1.8 (Z@HEY) 0.1 m >
VT q-3haravyy-r FRIEE 20 140 m?®
BEYVSyI YISy RC—40 11.0] m?3
i) e 45.0| m?

1

3 2




BERES I 1# ® K-t & e R

155

5—4 Lf2#ET 350 Lt#HHE S=1.10
550
100 350 100
- ~20R .
OB = 100m¥ Y
i £ e K-~ x| B 2 B
% mavhy-rL R 3508B 165.0 | {&
T )L 2 )18 (ZT=EHEY) 0.6/ m?

133




450

100 250 100

o ~20R |

s < { / 1:10  1:20
N R =
reao i s

295

&) . &

BENES I & e K-t & 18
£—5 M-LEET 250 —#E S=1.,10
L 100m 24 1)
A % e K- F B 2 B &
&% mavyV-+tL B AS5—250MH | 165.0 f&
T L & 18 (Z=HRY) 0.5| m?®
VT 4-3habavyy-r FRIEE 208 4.5 m?
BEXEYSvy¥¥3>Y RC—40 4.5 m?®
i) B 100 m?

1

3 4




155

450

100 250 100

° ~20R )
2 | /110 1020
& <
RC—40 S
® : &5E

BENES I i 2 K- & i R
55— 6 h-LEET 250 fH@®RE |s=1.10
MoOo# = 100m & Y
oh % B K-~ F #H 2 B
#% B aviYy-trL B AS>3—250H]| 165.0] {@
T )L & 13 (THY) 0.5| m?
VF 4-3haravyy-p ERIEE 20 9.0 m?
BEYVSvyiv¥3>Y RC—40 9.0 m?
E e 20,0 m?

1

35




550
100 350 100
~20R :
o 8 [ / 1:10 1:20
S o gln

L T R
RC—40 3
22 &8

305

@ &

BERES I & e K-t & g
5—7 M-LEET 350 —f# S=1.10
OB % 100m 24 1)
A % e K- F B 2B &
B AavhI-rL R 3508 165.0 | {&
T L A L1838 (EEHY) 0.6 m?
V" 4-3hRbavyy-r RIS 208 5.5| m?
BEYVISvy¥v¥3Y RC—40 55| m?
i) e 10,0 m?

1

36




155

550

100

350 100

§ { \/ZOR 1410 1:20
o
RC—40 g S
& : &

BERES I & e K-t & g
£—8 P-LEEI 350 MMHEMA S=1.10

MoOoR % 100m %4 1)
A % e K- F B 2 B &

#% B av))-+tL B AS>—350M | 165.0 f{&
T )L 4% |13 (ZEHY) 0.6 m?>
VT 4-3habavhy- | FRIEE 20H 11.0| m?
BEYVSvyi¥3>Y RC—40 1.0 m?
i) B 200 m?

1

37




BEEKES T b B K-t & w R
s-9 @ ® x | TEREEIOCTR Is-q 90
10% 45cm
650
35 165 450
g 2}/;‘0/
; 175 80, o ° 2
h o o ° o Oo © - s
%D RC—40 Q% &
& R 55
M O % 100m% Y
:ﬁz_:l:T: i .
fh £ B2 K-~ % | % 2 B &
. s 150
aVvHY—rERIO VY 170><200><600 165.0 | {&
E J & JL 1 :3 (ZHY) 0.1 m 3
V7 (-39Abavhy-b B 18 8 20H 13.2| m?
BEI9S59vi vV RC-40 9.8 m 3
i A 54.0 m 2
138




BERES I i 2 K-~ & fia R
s—10 @ ® T TEREFLOCTR 1s-q 40
10% 45cm
650
35 165 450
( ﬁ% uuu oo
o 175 o ° Lo <
Br - 0% %o Oo o . ° g
AEHO @sSS
o= RC—40 =S
S 555
e 100m 2 ¢
®  5E # M = m Y
An % B K- &F W 8 E [
avyoy—+rJovy 165/170 165.0 | &
50/70 x 600
T L &2 L 13 (ZEHY) 0.1 m*®
V7 (-39Abavhy-b B 18 8 20H 13.2| m?
BEIIvIY IV RC-40 9.8 m*®
i e 540 m?
139




BERES I L B K-~ & e R
P HEHEE40cmHA _
Z—11  #H & I oY S=1./10
10% 45cm
650
35 165 450
ge 1:10
. \ o
© 175 80" ° <
® 0% %o | % o ° s
A5 @S5S
= RC—40 &9 8
e 555
® 7 M X 100m % Y
& &E ‘ :
” 2 % okt % % B B
. s 160
:JO'J—hrﬁﬁjn‘yG[170}x100><600 165.0 | &
®E ) Z2 I 13 (ZEHY) 0.1 m >
V7 (-39Abavhy-b B 18 8 20H 13.2| m?
BEISYI YISV RC-40 9.8 m?
i 1 54.0| m?
140




200

BEERES I i 2 K- & fm R
.. HEEHEE40 cmH
= — 1 pl =
s£—12 | # & I ooy 82110
750 10% 4b5cm
50 30 220 450
%TIM
s o 3
3 2 ’f%
; N0°3¢ Z
e S
<3 RC—40 5 8
: 8L [T
7 M %X 100 frZ Y

52| U0 T | ME SR avhY-+ EMAL | B |30 15 30 RC-40
* i E Eég%&fg}zo” 1:3 250*150*600 178><200><250><15<ﬂ><600
T | cm | cm m m° m 1@ & m3
A 303|424 61.9| 0.9 |229.0 500.0 200.0 47.7
B | 424545 79.6 | 1.2 |294.3 700.0 200.0 61.3
C | b45/666| 97.3| 1.4 |359.6 900.0 200.0 74.9
D | 727|848 123.9| 1.8 |457.9 1200.0 200.0 95. 4

LRERUNDE S LR EHRFT S &

141




200

10

145

650
35 165 450
2
R B L
u? ° o ° Bo ’ S
175 _g8o°  ° O ~
iy s
ggj RC—40 E% S
S CfE5D
@ : BE

BENES I i 2 K-~ & e R
s—13 @ ® x | TEREECSCmR Is-q 90
10% 4b5cm
Mo X 100m % Y
R % B K-+ &F & 8 E &
SvHy—trTaYY [}ggszoomoo 165.0 | 18
T L A2 )L 183 (ZHY) 0.1, m*®
V7 (-3hAbavhy-b i 18 8 204 13.2| m?
BEXEYVSvI YoV RC-40 19.5| m?®
il 2 54.0| m?

1

4 2




BERES I i 2 K-~ & fia R
s-14 @ ® T TEREFSSCTR 1s-q 40
10% 45cm
650
35 165 450
o 175 g ° <
&5 B ooooo oo © ° ° -
= e ’
& = S
e TETAY =
L S oo &30
M o® =R 100m% Y
An % B K- &F W 8 E [
:§Z_RJ:T:
avsy—+rJavy 165/170 165.0 &
50/70 x 600
T )L 2 ) 13 (ZEHY) 0.1 m?®
V7 (-39Abavhy-b B 18 8 20H 13.2| m?
BEXY5vyv¥v¥35>Y RC-40 19.5| m?2
i) B 94.0 m >
143




200

BERES I i e K- & e R

HESHEES55 cmHA

10

145

£—-15 | # ¥ I oy i s=1.10
650 10% 45cm
35 165 450
S 1:10
175 sdc ° <
% RC—40 %<§ =
328 8
M o® =R 100m % Y
T % B K- &F & E BE M
:if\l:T: AR ﬁ ==} AL
:>7'J—r~rﬁ§?~7‘n‘y7[}%}MOOXGOO 165.0  {&
E L A2 L 1:3 (ZHVY) 0.1 m 3
V7 (-39Abavhy-b B 18 8 20H 13.2| m?
BEY5v¥%¥5> RC-40 19.5| m?3
i e 540 m?

144




BERES I i 2 K-~ & fm R
N SEHEES 5 omM | _ _
750 Z—16 | 1 & T RGOy 5 S=1.10
10% 4b5cm
5030 220 450
%T1%
o Y sl B |
Q g o 7‘//
:: - 2100 ° 3& g
. . . O
& & F
% RC—40 % g
S Res
HE HoH % 1008 7 2 Y
s X U I FEER| AV - EMAL | BUE |30 _
fig % é—lﬁ_ %ég%?gi%‘)zl‘;“ 1}:7}3 # 950*150%600 Eggxzo%x[;sooxw(ﬂxeoo RG-40

T | cm | com m’ m° m & 1& m’
A 303|424 61.9| 0.9 |229.0 500.0 200.0 95. 4
B | 424545 79.6 | 1.2 |294.3 700.0 200.0 122.6
C | b45/666| 97.3| 1.4 |359.6 900.0 200.0 149.9
D | 727|848 123.9| 1.8 |457.9 1200.0 200.0 190. 8

LRERUNDE S LR EHRFT S &

145




200

10

145

650
35 165 450
o
[Te]
B B
e O QOB
LOO © o
175 80, o °l 8
= es
o
[fe)
©
égéi %% S
- =S
— S50
& : &

BERES I i B K- & e R
s-17 @ ® x  TEREESSCmR Is-q a0
10% 45cm
7 M X 100m%E Y
Af £ B K- &F % 2 B &
Sy y—trTaYY [}igszoowoo 165.0 | &
®E ) Z2 I 13 (ZEHY) 0.1 m 2
V7 4-39RbavhY-+ B 18 8 20H 13.2| m3
BEYSvyLv5Y RC-40 26.0| m?
i) # 54.0 m?

1

46




BERES I i e K- & e R

HEHEEG65cmA

10

145

£—-18  #H R I w8 $=1.10
0
650 10% 45cm
450
%‘0/
175 ° S <
= &
gé % S
% %&%
@ % M OB X 100m% Y
55 o o % Bo%k-T % M B OB
165/170 x
avhy—rJowvs 165.0 &
CEE 50,/70 % 600
E J & L |13 (ZHY) 0.1 m 3
V7 (-39Abavhy-b B 18 8 20H 13.2| m?
BEYISYIYT Y RC-40 260 m?3
Ein) B 54.0 m?2

147




10

145

650
35 165 450
S 1:10
— g 5 8
175 80" K ~
oo ges
= & 2
< =y
5 5
3 o
Ses e
&) . &

BERES I i 2 K-~ & fia R
g s EEHEE6 5 cm A ~
£—-19 | # £ I oy $=1.,10
10% 45cm
M o® =R 100m% Y
fn % B K-~ F| % 2 B
: s 160
zzau—hﬁﬁjnva[”O}MOOxmm 165.0 {&
E L A2 L 1:3 (ZHVY) 0.1 m 3
V7 (-39Abavhy-b B 18 8 20H 13.2| m?3
BEYSviv3Y RC-40 26.0| m?3
il 2 54.0| m?

1

48




200

BENES I i 2 K-~ & fia R
s EEREEG6 S5 cmA ~
190 £-20 & R T BBy TInyy o 1710
10% 45cm
5030 220 450
15T1%
N o 3
3 SFK/JﬂL//
; 270" 30 <
H ;s
= ;% S
: :
5= &
o o X 100F AT Y
st U1 FEER VY- b| TN | BEE 30 _
® : B6E o= ;E:HE— %E"Q;%gsézgn Py BB 1504600 E§8X2°‘ﬂx[zssoox‘5‘ﬂx“°° R4
T | cm | com m mS m I i~
A 303/424) 61.9] 0.9 1 229.0 900.0 200.0 127.2
B | 4241545 79.6| 1.2 |294.3 700.0 200.0 163.5
C | 5451666 97.3| 1.4 |359.6 900.0 200.0 199.8
D | 727848 123.9 | 1.8 |457.9 1200. 0 200.0 254. 4

LRERUNDE S LR EHRFT S &

1

4 9




10 200

163

650
35 165 450
o
Y]
- 6 %
gy 0 o ]
o O o"" °
Oy o ° .
175 80, o ° s ol 2
B ° o N
o o o © ° o o
o o o o o o
<t
%@ Oé%@
RC-40 = 2
@ . &F

BERES I L B K-~ & e R
s-21 @ ® x  TERERAO0CTR Is-q 0
6% 45cm
7 M X 100m%E Y
Af % B K-+ & W E E
Svsy—rTayy [}gg}xzoowoo 165.0 1@
T L Z2 )13 (EHY) 0.1 m?
V7 4-39RbavhY-+ B 18 8 20H 13.9| m3
BEISYI YISV RC-40 9.8 m*®
% e 57.6  m?

1

50




BERES I i e K- & e R

HEHEE40cmHA

10

163

s—-—22  #H E I 18 8 s=1.10
6% 45cm
650
165 450
o 6 %
175 30‘,: ° z
O
@%3 RC-40 =
# # X 100m % Y
& ®E B % B K- % % 2 | B
165/170 x
avsyYy—rJOovy 165.0 {&
50/70 x 600
E )L A2 )L 13 (ZHEY) 0.1 m?3
V7 (-39Abavhy-b B 18 8 20H 1.9 m?
BEIVSvIYSY RC-40 9.8 m?3
i) B 57.6 m?

151




BEEKES T b B K-t & B R

PR HEHEE40cmA _
5—23 | # £ I o0 S=1.10

6% 45cm
650
165 450
M
. 175 Bo- ° =
e ) s
A3 O
RC-40 &
& e s
M O % 100m% Y
@ &E =) £ B K- F B B B &
. s 160

aVvHY—rERIO VY 170><100><600 165.0 | {&

E J & JL 1 :3 (ZHY) 0.1 m 3

V7 (-39Abavhy-b B 18 8 20H 1.9 m?

BEI9S59vi vV RC-40 9.8 m 3

i A 57.6 m 2

152




200

BERES I i 2 K-~ & e R
s EEHEE4L0 cm A ~
£-24 B R T BBy TInyy o 1710
6% 45cm
750
5030 220 450
%TI%
s PR
o P - 6 %
; - 270" ° B0 2
A o
% RC-40 % 3
® OB % 100 Fr Yy U
S 55 1T FEER AvhY-+| ENAL | BLEE 30 C-40
®  &E fig % é—lﬁ— %ég%?ﬁ‘i%}zg” 1 :73 # 550%150%600 Eggxzo%x[;sooxw(ﬂxeoo RG-4

T | cm | com m’ m° m & 1& m’
A 303|424 65.9 0.9 |244.2 500.0 200.0 47.7
B | 424,545 84.7| 1.2 |313.9 700.0 200.0 61.3
C | 545|666 | 103.5 1.4 |383.6 900.0 200.0 74.9
D 727|848 131.8| 1.8 |488.4 1200.0 200.0 95. 4

LRERUNDE S LR EHRFT S &

1

53




BEREZS I b B K-t & B R
s-25 @ ® x | TIREESOCTR Is-q 0
6% 45cm
650
35 165 450
§ = 6 %
y 5 |
- 175 Bo- 2
o o o o © ¢ g
S = |
oS

M OB X 100m% Y

=] A "-T_" ;~ 3 = 3 &

:Ez':J:T: =] % ﬂ/ '{k f ﬁ B E 1_L

SLoy—rTaYS [}g’gszoowoo 165.0 18

E J & JL 1 :3 (ZHY) 0.1 m 3

V7 (-39Abavhy-b B 18 8 20H 1.9 m?

BEYSYI YISV RC-40 16.3| m?3

il 2 57.6| m?2

15 4




BERES I i e K- & e R

HEMHEESOCcmA

10

163

£—26 H £ I . S=1.10
6% 45cm
650
35 165 450
. 6 %
175 B0- =
s RC-40 59 8
: :
M O % 100m% Y
i £ B K-~ EF #H = B &
:ﬁz_:J:T:
165/170 x
avsyy—rJavys 165.0 &
50/70 x 600
E J & L |13 (ZHY) 0.1 m 3
V7 (-39Abavhy-b B 18 8 20H 1.9 m?
BEYISyI vy Y RC-40 16.3| m?3
Ein) B 57.6 m?2

1565




BERES I i B K- & e R
PR HEHEES50cmA _
£—27 | 5 £ I e S=1.10
6% 45cm
650
35 165 450
M
- 175 80" ° ° 2
i °o° ° ) S
25 )
% g?g RC-40 2
-2 M OB % 100m 24 U
Ah £ B K- &F % 2 B &
®: HE QvsY—RERTOYY }gg}xmowoo 165.0 | /A
T L 2 L 3 (Z=#®,Y) 0.1 m >
V7 (-39Abavhy-b B 18 8 20H 1.9 m?
BEY5vyiv¥35>2 RC-40 16.3| m?3
il 1 57.6| m?
156




200

BEREZS I b B K-t & B R
w s EEHEES O cmA ~
£-28 #H R T BBYTInyy o 1710
6% 45cm
750
5030 220 450
%TI%
R o8
2 oy 6%
; - 270" ° B0 2
: Bl
% RC-40 % 2
o, o
M OB % 100 Fr&y U
-~ _ 2 =[] < En' vhl - 3__?.2 Al _
T | cm | cm m mS m & & m°
A | 303424 65.9| 0.9 |244.2 500.0 200.0 79.5
B | 424|545 | 84.7 1.2 1313.9 700.0 200.0 102. 2
C | 545|666 | 103.5 1.4 | 383.6 900.0 200.0 124.9
D | 727|848 | 131.8 1.8 |488.4 1200.0 200.0 159.0

LRERUNDE S LR EHRFT S &

15

2




BERES I i e K- & e R

HEHEE60cmHA

10 200

163

£—29  #H ® T iy Ss=1.10
650 6% 45cm
35 165 450
2
175 80. ° 2
s T
% RC-40 3
e o
= s BB 100m % Y
T £ B2 K-~ EF B 2 B
®  EE S y—kTavs [Bg}zoweoo 165.0 1@
EF J OF L |13 (ZEHY) 0.1 m 3
V7 (-39Abavhy-b B 18 8 20H 1.9 m?
BEIIYINYIS Y RC-40 22.8 m 3
i) 1 57.6| m?2

1

58




BERES I i e K- & e R

o

- BHEE

10

163

i i S=1.10
6% 45cm
650
165 450
& 06 %
175 3q: ° . E
7
RC-40 % 3
& ST 100m 24 U
AT £ B K-~ EF | # = B i
165/170 x w50l
S L oa= avey—rJOovs .
BE 50/70 x 600
E J & L |13 (ZHY) 0.1 m 3
V7 (-39Abavhy-b B 18 8 20H 1.9 m?
BEI9S59vi vV RC-40 22.8 m 3
Ein) B 57.6 m?2

159




650

450

- 175 80.° o E
& c e “L
5 i
5 % RC-40 % 3
= &y
o &0
& SoN Res
:§Z_RJ:T:

BEHES I i 2 K-~ & fia R
PR HEHEEG60cmA _
£-31 | # & I oy $=1.,10
6% 45cm
M o® =R 100m % Y
fn % B K-~ F| % 2 B
: s 160
:JG'J—hrﬁﬁjn‘yG[”O}mex 600 165.0 1@
E L A2 L 1:3 (ZHVY) 0.1 m 3
V7 (-39Abavhy-b B 18 8 20H 1.9 m?
BXEYVSvI YoV RC-40 22.8 m?
il 2 57.6| m?

1

60




BERES I i e K- & e R

HEHEE60cmHA

750 £—32 | @ & I SHRE TS0y S=1.10
6% 45cm
5030 220 450
i 5T 165
o Y - 3
S o o 6 %
© & y — o |
; - 270" B0 2
.
7 ERE
% RC-40 % 3
e =5
] s 0
53
# B x 100 T & Y
B | VDT MEER VY- EMAL | B 30 150 30 RC-40
CEE iR EE LSO 13 950*190%600 170X200x250><15(ﬂx600
T | cm | om m° m° ni & & m?
A 303424 65.9 | 0.9 |244.2 900.0 200.0 111.3
B | 424|545 84.7| 1.2 |313.9 700.0 200.0 143. 1
C | 5451666 103.5| 1.4 |383.6 900.0 200.0 174.8
D | 727848 131.8| 1.8 |488.4 1200. 0 200.0 222.6

LRERUNDE S LR EHRFT S &

161




10 200

163

650
35 165 450

B

© -

175 80, o °. 2

oo o=
= RC-40 ~ 3
= =l
. >
S5 3

& - KT

BERES I i B K- & e R
$-33 @ ® x | TIREESSCmR Isoq 90
6% 45cm
# OB % 100m¥% Y
Ah £ B K- &F % 2 B &
Svoy—+TaYy [}gg}xzoowoo 165.0 | {&
®E ) Z2 I 13 (ZEHY) 0.1 m >
V7 4-39RbavhY-+ B 18 8 20H 13.9| m3
BEYS5vyL w5y RC-40 26.0 m>
i) # 57.6| m?

1

6 2




BERES I i e K- & e R

HEHEEG65cmA

£ —34 T E I w18 S=1.10
6% 45cm
650
35 165 450
& 6 %
- 175 30; ° 2
i °
= &
RC-40 =
& &3
% % EOIEOE 100mz Y
s R e AT £ B K-~ EF | # = B i
165/170 x
avsyy—rJavys 165.0 &
®  BE 50/70 x 600
E J & L |13 (ZHY) 0.1 m 3
V7 (-39Abavhy-b B 18 8 20H 1.9 m?
BEYISyI vy Y RC-40 26.0| m?3
Ein) B 57.6 m?2

163




oy

100

650

450

6 %

- 150150
[¢]
[e]

- 175 30" K 2
e e 3
g_%é RC-40 égé g
. :
Sea S0
:§Z_RJ:T:

BEERES I i 2 K-~ & fm R
P HEHEE65cmHA _
£—35 # B I 9y T S=1.10
6% 45cm
M O X 100m&% b
An £ 2 K-~ & #H E B
. X 160
:/'7')—#5@‘5%7&'/7[170}x100x600 165.0 {&
E L A L 1:3 (ZHVY) 0.1 m 3
l/'} 4“571[‘]\/7U_|“ %iEEJFS_ZBB_)ZOH 13 9 m3
BEYVSyI YT RC-40 26.0 m >
i B 57.6 m 2

1

6 4




750 *%Jﬁ%% I *E ﬂg :Iﬁ " T_" 5£ ﬁﬁ R
.. HEHEE65 cmA
= — 1 pl =
5030 220 450 25 3 6 frT B I P S=1.10
6% 45cm
1%T1%
2 o o '_ 6 %
© y —— o |
; 270" 30 2
& .
<= &
= =
RC-40 o
= g
S5 .o
M M = 100 Fry U
CERE et | U T MEER AV -b EMAL | B4R |30 15 30 RC-40
* i E Eég%&fg}zo” 1:3 250*150*600 178><200><250><15<ﬂ><600
T | cm | cm m mS m & & m’
A 303424 65.9| 0.9 |244.2 500.0 200.0 127.2
B | 424|545 84.7| 1.2 |313.9 700.0 200.0 163.5
C | 545/666| 103.5 1.4 |383.6 900.0 200.0 199.8
D 727|848 131.8| 1.8 |488.4 1200.0 200.0 254 4

LRERUNDE S LR EHRFT S &

16

5




10 200

163

650
35 165 450
o
Y]
- 6 %
gy 0 5 ]
0 O o°" °
Oy o .
175 80, o ° 2
o ° o N
Ziam e
@ . &F

BEERES I i 2 K-~ & fm R
£-37  # ® I TERE S=1.10
6% 45cm
® 8 % 100m% Y
T £ B2 K-~ EF B 2 B
Do y— kIO [}?g}xzow 600 165.0 {&
T L A2 )13 (ZHY) 0.1 m?3
V7 4-39RbavhY-+ B 18 8 20H 13.9| m3
BEYVIYI YTV RC-40 3.3 m >
i) e 57.6| m?

1

6 6




10

163

650
35 _ 165 450
o 6 %
N
( S
i [e]
o o [e) o
175 30" ~
SR 2
D EBRIE

BERES I i 2 K-~ & fia R
$-38 | # E I it s=1.10
6% 45cm
S 100m % 1
5 % ok % M OB B M
165/170 x
avoy—+rJaovy 165.0 | {&
50/70 x 600
T L &2 L 13 (ZEHY) 0.1 m*®
V7 (-39Abavhy-b B 18 8 20H 1.9 m?
BEIIvIY IV RC-40 3.3, m*®
il e 57.6 | m?

1

6 7




650
35_ 165 450
o
e}
e A 6 %
g 3
— (=2
o\ Lo [e)
- 175 80" °
© e}
— ° o o
[¢) [e]
& &

250

50]

BERES I i 2 K-~ & fia R
S e _
£-39  # £ I oy 1 $=1.,10
6% 45cm
M o® =R 100m% Y
fn % B K-~ F| % 2 B
: s 160
:nz'?U—Hﬁﬁjn‘ya[170}x100><600 165.0 {&
E L A2 L 1:3 (ZHVY) 0.1 m 3
V7 (-39Abavhy-b B 18 8 20H 1.9 m?
BXEYVSvI YoV RC-40 3.3, m*®
il 2 57.6| m?

1

68




200

BEERES I i B K- & e R
- EEEE
5 — B 3 s =
0 5—40 | # B I R 0y b $S=1./10
6% 45cm
5030 220 450
%T1%
N o 3

o ©| 6 %

Lo &y o | ]

; - 270" 30 ° 2

Z3= I E
: BT
7 # % 100& Fr &4 U

55t B MEER avY-L EMAL | g | 30 150 30 RC-40
* i E Eég%&fg}zo” 1:3 250*150*600 170><200><250><15<ﬂx600
T | cm | com m’ m° m & 1& m’
A 303424 65.9| 0.9 |244.2 500.0 200.0 15.9
B | 424 545 84.7| 1.2 |[313.9 700.0 200.0 20. 4
C | 545/666|103.5| 1.4 |383.6 900.0 200.0 25.0
D | 727|848 131.8| 1.8 |488.4 1200.0 200.0 31.8

LRERUNDE S LR EHRFT S &

1

69




BEREZES T i B K-~ & w R
S — 4 1 HEFI T avsy—rJavs [S=1.20
6% 45cm
365
620 (615) 50 315 60
165 350 100
S — 6% N
oy S S 2 ()
g? 615 M OoH =% 1004 Y
~ 1655 345 200 X
o gD ) % o K-t %k B B B O
2 8 A = 1
= - o A 3 A oA ]
sl == ) ® 8? =+ & 1= ke 100.0 | f&
] 170L 345 joo&ao ol o 490 x 365 x 60
115 =T avsosy—rJAavy 450 x 700 100.0 {&
@ : &F 3 avs)—+rJBYVY [}gg}xzoowoo 100.0 &
avsYy—+rJBvY 6200615 x700x 800, 100.0 {&
EF L A2 Big1 .3 0.3 m 3
. % 3% 18-8-20H
£ 3 v (H182B) 2,11 m?
BEIVSvyI YoV RC-40 5.0 m 3
170




615
165 350 100
< 8 %
o o~
(=]
- \—A;
615
1655 345 90B0
_ [
o
—
o o
o o
~ <
B
g -
o

490

365

b0

315

260 _115

115

000

60
=

BEREZES T i B K-~ & w R
% _ 455 1v9)-+7" 0yh _
6% 45cm
M O % 100K %Y
fh £ B K-~ EF #H = B &
) TREHE
F 9 A f= 100.0 &
490 x 365 x 60
avsy—rJaowvy 450 x 700 100.0 {&
. . 150
avyy—rJoyvy [170}x200x700 100.0 {&
EF L A Big1 .3 0.3 m 3

1

2

1




1095

500
100 300 100

= —
o
L | —
N ~
‘—/1‘.277 ‘ —
o
(o)

550
S 50 450 50
<t
o
2 Ko oS @

650

:ﬁz_:J:T:

700
400

490

315

5? 265

115

115

000

500

100 295

100

I5 200

50100

100 50

60

BERES I & e K-t & g
£—43 LAFET T 250Hf S=1.,20
o % 10084 Y
ah % e K- EF B 2 B 4
ER P NE =BT o0 100.0 | {&
AvhY-+7" 0yh 400%700 100.0 | &
" 100%220%700 100.0| 1@
2 2 H ¢ 450 x 150 100.0 | f&
18y B 7L 1 2450 x 490 100.0  {&
E 1% 2550 x 90 100.0 | {&
E L A2 L Hig1: 3 0.2 m?3
w L2 g 1.0 m?
BEISvIONY IV RC-40 3.3 m?

1

7 2




500

100 300

170

235
15120100

500
100 295
I5
o
(=]
ol

9]
ol O©
ol O©
~ <

10050

? 265

115

000

115

60

ERES T e K- & e
— 44 LE®EII |250H LE#HE|S=1.20
# # X 1008 Y
LT % K-+ F #& 2 B
ER N P60 100.0 | {@
av4Y-17" 0yY 400700 100.0 1@
Z 100220700 | 100.0 &
E LA B3 0.1 m




BERES I i e K- & e R

1090

$£—-45 LEET I 350H S=1,20
365
50 315 Q%(_)
550 2 ]
100 350 100 3 g =
= ij = .
o | o oH % 100 34 y
T 1 ss0 - 23‘; = ) 2 B - F | B B B &
g S0 450 50 ° &l \ 38 5
& S = ¥+ & f 100.0 | /@
= - 490 x 365 x 60
S o SvHy—kTaYY 450 x 700 100.0 | /@&
il = s S S Svsy—trTmvs | 100%x220x700 | 100.0| {&
650 Et £ B = @ 450 x 150 100.0 | 1&
- {81 23| AANEI50x490 100.0 | &
@ : &F
I3 15 2550 x 90 100.0 | /@
F J 42 I Big1: 3 0.2 m 3
i 2 ) 1.0 m?3
BEIISvyI YISV RC-40 3.3 m 3

17 4




700

550
100 350 100
i |
oS -
NS =
‘; |
550
100 345 80
5 20
) )
o
3 —
o
o
<
3
07%
o

490

50

365
315

260 _ 115

115

000

60
=

BERES I 1 e K-t & e
5—46 LF#FEII 350H LE#KES=1.20
# o# X 10084 Y
o % B K- F % =2 B
LR
E I N = 100.0 | &
490 x 365 x 60
avsy—tJnvy 450 x 700 100.0 | {&
avsy—rJavs | 100x220x 700 | 100.0 | 1@
T L A2 L Hag1: 3 0.1 m 3

1

75




i

BENES T 'O K- & &
£—-101 SEHEI —MKHB E14cmS=110

s L (F54La—F)
Ty B e dE,
& : &
M #H % 100m & Y
Al £ FAk - <tk H = B &
TFAI77ILENEESY AL E 10.0 t
FAIZ77IL MELAE PK3 126.0 134
BEYVSvyi x5y RC—30 12.7 m 3
176




150

A A—0yx>o57JAavy

L8

702060

A |

=

® @

:§Z_RJ:T:

BEREZES T

i e K- & e

£-102 SHEMHET

— A% &8 [E15cm
108-Ny%vh" 7" Ny

7 M % 100m % vy
h £ Bk - T ¥ 2 OB
18—y x2J
\ E6 O0ommh o — 100.0 m?
Javy
B b 2.5 m >
AR OB A M—30 8.9 m*°

177




170

A A—0yx>o5JAavYy

B

80

70

20

M—30

:§Z_RJ:T:

BEERES I i 2 K-~ & fm R
. : — & Elicm _
£-103 HEMET 15-0y%v9° 7" 0y} s=1sho
# OB % 100mM%z Y
T £ FK - tik ¥ E B
A1o8—ayxoy
) E8 ommh S — 100.0| m?2
Javy
B b 2.5 m >
TR = 51 M—30 8.9 m?3

178




230

4Av8—nyxo5Javy

P40
o
2 - 1 |
2 BABHE >
= (754 La—1+)

o
e M—30
-~

& ®E

BERES I i 2 K-~ & fs
£—-104 HBEHET MEmE A [E23cm S=1.,10

IZ R CEVY MDY

® OB % 100m % L)
o £ a4k - Tk H = B &
Ao —ayxoy
i E60mmhS— 1000 m?2
Jowvy
g oy 2.5 m?3
BE
AL E 12.9 t
TFAI77ILENEESY
TFAIZ77IL MELAE PK3 126.0 134
AR OB A M—30 12.7 m 3

1

79




280

A A—0yx>o5JAavYy

87

e
2 BAEEMNE ®
2 BAENE (F54 La—F)
o
e
8 5

BEREZES T & e K-t & &
. , WmmEmB  E28cm _
£—-—105 SHEMETL JSET. S=1.10
M O#H % 100m% L)
i £ FeAk - <k B = HE
A3 —ayxoy
X E6O0mmAhS— 100.0 | m?
Jowvy
g iy 2.5 m?3
BE
12.9 t
FAI77ILEMES
BE
i 12.9 t
FAI77ILMES
TA277IL MELE PK3 126.0 (37
AR OB A M—30 12.7 m

1

80




250

A3 —0y x> 5JAavy

o
o
(o)
3 BABME
o
2 RM—40
@ &5E

(A
(A

&

(T34 La3a—+)

BEREZES T

i e K- & e R

£—-106 SHEHET

Wmec [E25cm

(v8-T9%95° 7" 0y) S=110

XERBEELTEFR (H2 SEF)

M o % 100m% L)
o £ a4k - Tk H = B &
18—y x2J
X FE8O0mmA>—| 100.0 m 2
Jowvy
g iy 2.5 m?3
BAE
FH AL E 12.9 t
FRAI77ILENERSE
TA77IL MELE PK3 126.0 (37
oA OB A RM—40 12.7 m 3

1

8 1




Av8—Ayx>5Javyy

o

80

300

100_ 50 50

(TSA4La—1F)

BENES I e K- & S
%;_1 07 %E%ﬁ%l R & D [E30cm S=1 /1 o

1v9-ny¥v)° 77099

XIRAEELER (H2 3EH)

® OB % 100m% L)
i £ ek - <tk B = HE
A3 —ayxoy
X E8o0ommAZ— 100. m?
Jowvy
B b 2. m >
BE
#B I E 12. t
FAI77ILEMES
BHE
. #8 FI E 12. t
FAI77ILMES
TA277IL MELE PK3 126.0 (37
AR OB A RM—40 12. m 3

182




250

BENES I

= B K- & e R

£-108 HEHET il

E25cm

10050 20 80

B5-F4R7 0y S=1710
Mg Jowyw~2200x 100 E80mmhI-
EJILZIL(1:3)
HW,gg
BEHA (7" 5443-H)
& Saos!
RC—30 %@ &
MM - EEXEFRI(H2 3FH)
o 100m 2 v
h £ BAK - Tk # = B &
WMazEIJoyy [EsomhT— 100.0 m 2
EIJLZ2I)L 1:3 2.0 m 3
BAE
R E 12.9 t
FRAI77ILLNEEY
FTRAI77IL LEA PKS3 126.0 59
BEYS5Svyiv¥3>Y RC—30 12.7 m3

183




180

BENES I i % K-t & e R

£—109 BRAAAILEET —K E18cm |S=1.10

EILAIL
0 41 1
~ A AE A
3 % (F54La—F)
-
@  &5E

# o#® X 100m & Y
o % AKX - TiE ¥ 2 OB
A 24 )L &E E20mm 100.0| m?
SN R S | Hig1 . 3 3.0/ m?3
TAIT77ILEREY AL 7.5 t
7RI 7L ~EAF PK3 126.0 ¥
T R I ] M—30 12.7| m?3

XEMELZ LRV EREEMMIE, RFAREIZEL D,

184




350

EILAZIL
o AV AZ AL
o™
S ®E21-8-200
= T (H212B) e
- - (FS54La—F)
O O

BEREZES T B K-~ & &
S— 110 BESALS%ET #HAHPA E35cm [ S=1.10

# oM =® 100m 4 Y

i % BAK - Tk #H 8 B
B R % 4L £E E20mm 100.0| m?
T L 2 L BHo1:3 3.0/ m?

£ 2 v ey 5.0/ m?®
7RI 7IL LELEA PKS3 126.0 %

BEMARA RM—40 19.1) m?3

XEMEILZILRVHBEEMMIE, FHRNREIZL S,

185




450

ELZIL
=~ NZ A0 AU
o
™
S 2 38 21-8-20H
Q (H212B)
(T34 La—+h)

S RM—40

® : ®5E

BERES I & e K- & B R
B—111 BESALHET #HE#HB E450m S=1,10

M H =R 100m &y
R % R - ik #H B B
WA 424 )L &iE E20mm 100.0| m?
T L 2 L Bi#1:3 3.0 m?®
£ 3 v Flizioe 20.0 | m*
T7RAI7ILLEEAF PKS3 126.0 | 1%
BEMFARA RM—40 25.4] m*3
XKEMELZLRVBEEMME, RARAREICKL D,

186




650

200

200

A

R

(#wa—+F+B)

- FRARE

(T4 La—1+)

BERES I e K-t & e
E—112 HEHEI E55cm S=1.,10
Mo# % 100m 24 v
A % Ak - Tk ¥ 2 B
FAI77ILLNEEY BhE 12.5 t
7RI 7L +ELA PKA4 32.0 | W
B4
FRI7ILLEAY AR 12.6)
TAZ7ILE
nEgan  BE 1257 ¢
7RXA277IL MEE PKS3 126.0 |
BENMBARA RM—40 25.4| m?®
BEXEY5v9¥v¥5>2 RC—40 25.4| m?3




650

100_ 50 5050

200

200

BERES I & e K-t & g
£—113 EHEHETL E65cm S=1.,10
Ezi (8 ysa—FB)
A
R : (7S5 A4 La—+)
MoOoH x 100m 24 1)
A % Ak - <Pk ¥ 2 OB M
TAI7ILLEEY =N E 125 t
 EE 7RI 7L hEA PK4 32.0 |
B4E TAIIWNES 8 R FE 12.6 | t
BYE 7i77WNESE AL 12.6 |t
FAITIE B 24.9 |
MIBEEY
7 A7 7L LELE PKS3 126.0 |
BEMBEARA RM—40 25.4| m?®
BEYVSvyP¥3>Y RC—40 25.4| m?3

188




500

BENES I i 2 K-~ & fia R
£—20 1 Bh e #t T FAYENRIL |S=1.25
O~1. 5MBA/NRIL
1 %\ﬁ i
=S > 5 |
N%[ / \ I — =
N o ©
g st $42.7x2.3 627.2x1.9 g g
™ N =
\$ )8 ! .
. . O —
X B 938 X B - ) S
XA e
e g §
¢ 76.3x3.2
XA X B
3. OMANRIL 2814 9 38
2. OME/NS%J) | 1814 | 438 0300 |
1. SMAE/ R 1314 188
1. OMA//NNRI
814
$42.7x2.3 $27.2x1.9
A
8 (]2
” dl_ e s R I IEEL,
g EI;S & % otk - <F ik ¥ B B @&
— - % & 18-8-20H
-3 DY, 11 = 3
b7 4-3HAbavhy-t (H182B) 0.029
BEIVSYyI YISV RC—40 0.005 3

1

89




BERES I L B K-~ & e R
¥ CTFTHFLAUNRFLBAAR-—T Iz Vv RBREFEBRBROZEG £—202 5 5 #fit — BRI |S=1.25
2T, BEBRMIELT S,
EROMBRESAVYEARILSR
? =
2814 _ I
938 169 600 169 938
o
o
o ©
I N =
E N, |5 3 o =
N T4 Vs | ol =
s| S H RS 6.L. o8
= O QQQ. $42.7%x2.3 (TILEEHEW) $p27.2x1.9 j:;S - - ©
oS )8 dIARE
— . I <
$76.3x3.2
558 69909148
4] 25 500 25 0300
- THA R LVERAHEHER s=1.10
o
T ! I
| [
600
THA NI
ol S 36 528 36
o w o — w
3| = (7L FryvIJHU—Fv M8
(sus)
| i | = = = O
S 1‘ 4 14|11
- tFREEASSNRL
~ g M8x20 (SUS) 2 500 2

1

90




BERES I 1 e K-t & e R
£—-203 ®WFEI B A &3 S=1.15

#o# % &Y

o % B K- F % =2 B

53] = BRI & 1.0 =&

® 200 x 660
WMEY 7y bk EE&RNE200 1.0, =K
T L A2 1L Hog1: 2 0.006 m*®

XERLAMRUIS YO v SV OEREFERNS R

= nn

1

9 1



BEREZES T

i i /NI

FHREH

140
100 |40
2

100

314

300

1000

P =

£—204 HWHEI E # &B S=1.15
# M =®
o £ B K- &
iy MRS T ¢ 200 x 1000
T L 42 L Big1: 2 0.
BEISvIorY IV RC—40 0.
H=0.6 0.
H=0.8 0.
MR L AM H=1.0 0.
(% B *X) H=1.2 0.
H=1.4 0.
H=1.6 0.




